
-1.00

-0.75

-0.50

-0.25

0

+0.25

+0.50

+0.75

+1.00

+1.25

+1.50

+1.75

+2.00

+2.25

+2.50

+2.75

+3.00

0 500 1000 1500 2000 2500 3000 3500 4000 4500 5000 5500 6000 6500 7000 7500 8000 8500 9000 9500 10000

J
it

te
r 

(d
a
y
s
)

Year (excessively long cycle with rather short mean year of 365+1211/5000 days = 365d 5h 48m 46+2/25s = 365.2422 days)

Isaac Newton's Unpublished Modified Gregorian Leap Cycle Jitter
Leap if year is divisible by 4, except century years leap only if year divisible by 500 plus extra leap if divisible by 5000.

Jitter vs. Mean Year

Jitter range = 3.255401 = 3+1277/5000 days

Between 5000-year "corrections" this cycle drifts with a very short mean year of only 365+121/500 days = 365d 5h 48m 28+4/5s 


